1. Which of the following series is convergent?

(a) 
$$\sum_{n=1}^{\infty} \frac{n^{2}}{n^{5/7}+1}$$
Compare with 
$$\sum_{n=1}^{\infty} \frac{n^{2}}{n^{5/7}} = \sum_{n=1}^{\infty} n^{2-5/7} = \sum_{n=1}^{\infty} n^{9/7}$$

$$\lim_{n \to \infty} a_{n} = \lim_{n \to \infty} n^{9/7} = \infty$$
Solvergent by the Text for Solvergence (\(\lim\_{n \text{im}} a\_{n} \text{ an } \neq 0\)

(b) 
$$\sum_{n=1}^{\infty} \frac{\cos^{2}n}{3^{n}} = 0 \le \cos^{2}n \le 1$$

$$\sum_{n=1}^{\infty} \frac{1}{3^{n}} = \cos^{2}n = 0 \le \cos^{2}n \le 1$$

$$\sum_{n=1}^{\infty} \frac{1}{3^{n}} = \cos^{2}n = 0 \le \cos^{2}n \le 1$$
By Comparison Text 1, \(\frac{3}{n} \sqrt{\text{con}}^{2} \text{ is positive on } \text{ (converges)}\)

(c) 
$$\sum_{n=2}^{\infty} \frac{1}{n(\ln n)^{2}}$$

$$\(\phi_{0} \text{ the } \text{ Integral Text.} \)
$$f(x) = \frac{1}{x(\ln x)^{2}} = \frac{1}{$$$$

In hince  $\int_{2}^{\infty} \frac{dx}{\chi(lux)^{2}} = \frac{1}{eu2}$  convergent, then, by the Integral Test,  $\frac{1}{n=2} \frac{1}{n(lun)^{2}}$  converges.

1 = n = 100.70

general tobushing

emperimen Text 1) & infinite

the Interpol Perting on 12,

1=2 0=4 po one must (might

(1) x y - 2 (x 1) 2 2 - (1) x) 1 - (2) x 2 - (1) 3

0 > 2,112-3 = (4,137,20) 1 -=

IN is decreasing on EACE, -

du = fx = 7

2. Approximate the sum of the series  $\sum_{n=1}^{\infty} ne^{-n^2}$  by using the sum of first 4 terms. Estimate the error involved in this approximation.

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-4} + 3e^{-9} + 4e^{-16}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-4} + 3e^{-9} + 4e^{-16}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-4} + 3e^{-9} + 4e^{-16}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-4} + 3e^{-9} + 4e^{-16}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-4} + 3e^{-9} + 4e^{-16}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-1} + 4e^{-1}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1} + 2e^{-1}$$

$$\sum_{n=1}^{\infty} ne^{-n^{2}} \approx e^{-1}$$

$$\sum_{n=1}^{\infty} ne^{-1} = e^{-1}$$

$$\sum_{n=1}^{\infty} ne^{-1} = e^{-1}$$

$$\sum_{n=1}^{\infty} ne$$

3. Approximate the sum of the series  $\sum_{n=1}^{\infty} (-1)^{n-1} n e^{-n^2}$  by using the sum of first 4 terms. Estimate the error involved in this approximation.

$$\frac{\sum_{h=1}^{\infty} (-1)^{h-1} ne^{-h^2} \times e^{-1} - 2e^{-4} + 3e^{-9} - 4e^{-16}}{|R_4| \le 85, \text{ where } 8n = ne^{-h^2}}$$

$$|R_4| \le 5e^{-25}$$

4. Which of the following series is absolutely convergent?

(a) 
$$\sum_{n=0}^{\infty} \frac{(-3)^n}{n!}$$
 Ratio Test for  $\alpha_n = \frac{(-3)^n}{n!}$  lim  $\left|\frac{\alpha_{n+1}}{\alpha_{n+2}}\right| = \lim_{n \to \infty} \left|\frac{\frac{(-3)^{n+1}}{(n+1)!}}{\frac{(-3)^{n+2}}{(n+2)!}}\right| = \lim_{n \to \infty} \frac{(-3)^n}{(n+1)!} = 0 \le 1$ 

(b) 
$$\sum_{n=1}^{\infty} (-1)^{n-1} \frac{1}{n}$$

$$\sum_{n=1}^{\infty} \left| (-1)^{n-1} \frac{1}{n} \right| = \sum_{n=1}^{\infty} \frac{1}{n} - \text{diverget}$$

$$\delta_n = \frac{1}{n} \quad \delta_{n+1} = \frac{1}{n+1} < \delta_n = \frac{1}{n}$$

$$\lim_{n \to \infty} \delta_n = \lim_{n \to \infty} \frac{1}{n} = 0.$$

$$\sum_{n=1}^{\infty} (-1)^{n-1} \frac{1}{n} \quad \text{converget} \quad \delta_n = \delta_n$$

$$\int_{n=1}^{\infty} (-1)^{n-1} \frac{1}{n} \quad \text{converget} \quad \delta_n = \delta_n$$

$$\int_{n=1}^{\infty} (-1)^{n-1} \frac{1}{n} \quad \text{converget} \quad \delta_n = \delta_n$$

(c)  $\sum_{n=0}^{\infty} (-1)^{n-1} \frac{n}{(n-1)^n}$ 

$$\frac{1}{1} \left| (-1)^{n-1} \frac{n}{\sqrt{n-2}} \right| = \frac{1}{1} \frac{n}{\sqrt{n-2}}$$

Coo lim  $\frac{n}{\sqrt{n-2'}} = \lim_{n \to \infty} \frac{n}{\sqrt{n}} = \frac{n}{\sqrt{1-2}}$ 

= lim  $\sqrt{n} = \infty$ .

diverges by the Test by for Divergence.

AST:  $\lim_{n \to \infty} 6n = \lim_{n \to \infty} \frac{n}{\sqrt{n-2}} = \infty$ 

The series diverges!

(d) 
$$\sum_{n=0}^{\infty} (-1)^n \frac{2^{2n}}{3^{3n}}$$

$$\frac{2}{n} \left| \left( -1 \right)^n \frac{2^{2n}}{3^{3n}} \right| = \frac{2}{n} \frac{2^{2n}}{3^{3n}} = \frac{2}{n} \left( \frac{4}{27} \right)^n$$
converges (geometric series for  $r = \frac{4}{27} < 1$ ).
The series converges absolutely,

5. Find the radius of convergence and interval of convergence of the series  $\sum_{n=0}^{\infty} \frac{2^n(x-3)^n}{\sqrt{n+3}}$ .

The radius of converges
$$R = \lim_{n \to \infty} \left| \frac{C_n}{C_{n+1}} \right|, \text{ where } C_n = \frac{2^n}{\sqrt{n+3}}$$

$$R = \lim_{n \to \infty} \left| \frac{2^n}{\sqrt{n+3}} \right|, \frac{\sqrt{n+4}}{2^{n+1}} \right| = \frac{1}{2}.$$

The interval of convergence:

End points: 
$$\chi = \pm \frac{5}{2} \rightarrow \sum_{n=1}^{2} \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$= \sum_{n=1}^{2} \frac{(-1)^{n}}{\sqrt{n+3}} - \frac{2^{n} \left(\pm \frac{5}{2} - 3\right)^{n}}{\sqrt{n+3}}$$

$$x = \frac{7}{2}: \sum_{n=1}^{\infty} \frac{2^n \left(\frac{7}{2} - 3\right)^n}{\sqrt{n+3}} = \sum_{n=1}^{\infty} \frac{2^n \left(\frac{1}{2} - 3\right)^n}{\sqrt{n+3}} = \sum_{n=1}^{\infty} \frac{2^n \left(\frac{1}{2} - 3\right)^n}{\sqrt{n+3}} = \sum_{n=1}^{\infty} \frac{1}{\sqrt{n+3}} \text{ diverges}$$

interval of convergence:  $\left[\frac{5}{2}, \frac{7}{2}\right]$